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Examinee is directed to read carefully the following
instructions :

Examinee must write his/her Roll Number in the
specified box on the top left hand corner of this page.
Answers are required lo be marked only on the
Computerised O.M.R. Answer sheet which Is being
provided to the examinee,

Besides filling in the Roll Number, the examinee has
to put his/her signature and other required details like
Name, Roll Number, Question Booklet code, elc. as
indicated on the Answer OMR Sheet. If these details
are not filled in by the examines, his/her Answer Sheet
will not be evaluated.

For each question, there are four ailtemative answers,
out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

There are 40 (37+3) pages in this Question-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplele or defective
Question Booklet, he/she should make a request
io the Room Invigilator to change the same within
10 minutes of start of the exam.

This Question Booklet contains 150 questions from
following subjects :

{1) Maths Q. Nos. 1-50
(2) Chemistry Q.Nos. 51-100
(3) Physics Q.Nos. 101-150

Each question carries 1 mark and % mark will be
deducted for each wrong answer.

In case of any discrepancy between the English and
Hindi versions of any question, the English version will
be treated as final/authentic.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination.

. Any leaf from the Question Bookletl should not be

detached. After the Examination, Question-Booklet
iant_i Jiilmtsuwur-SheaI must be handed over to the Room
nvigilator.

. During examination the examinee will not be allowed

lo leave the examination hall till the END of the
Examination.
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MATHEMATICS

1. If one root of the equation

X*+ax+b=0is % times the other.

Then the correct relation between
aandbis

A) 3a%= 16b
B) 16a2=3b
C) 3a=16b?
D) 16a = 3b?

. The area of a triangle formed by the
points (a, b+ ¢), (b,c+a), (c,a+Db)is
A) a+b+c
2
B) abe
2

C) 1
D) 0

My=m+mP+mi+....owhenjm| <1,
then the value of ‘m’ is

<
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1. 3R x2 + ax + b = O G = T g&
gﬁ%%ﬂm%?ﬁaaﬂtb%
e % 9 g @
A) 3a=16b
B) 16a?=3b
C) 3a=16b?
D) 16a =3b?

2. (a,b+c), (b, ¢ +a), (c, a+b) fergadi

T @ 7Y f 5 Swe @

A) a+b+c
2
B) 2be
2
C) 1

D) O

ARy =m+m>+m®+ .. oo¥d

Im| <18 ‘mFgea

<
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R
- |
<

B)m

-
|
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C)

D)

—
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4. Inthe figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

O}

B
V3

A) ?cm

B) 8cm
C) 8J3 cm
D) 43 cm

5. The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A) ﬁ m
B) 1043 m

C)ﬁm
10
D) /3 m

s\ |(9 3 (5)°]
6. When [TE] x (E} T[EJ is

simplified we get

125 27
A) 27 B) 125
C) 1 D) 0

4. et 3 T o & g O A

AB = 8 cm W fafia iR mn | 3R
|ABP = 60° & df AABP il &% @

A

O%

B
N

—cm
A) 5
B) 8cm

C) 83 cm
D) 443 cm

. it o 1T ¥9 ¥ g2 §oN Ug TR

AR A 10 m <t gl ot sl g @ 3fk
et / 30° 1 I=TIH HIV] AT ¢ A U
EIRSEIERS

10
A) E m
B) 1043 m

C).‘r_'?‘rn
10

D) J3m

(-6

! gew T & fiear @

125 27
A) 27 B) 125
C) 1 D) 0




7. The reflection of the point (-3, —-2) in
Y axis is
A) (3,-2)
B) (-3,2)
- 0) 3,2
D) (0,-2)

8. A rational number between éand i3
is T 11

A) 22
77

) 31
77

Gy 22
11

7
b} -
)9

9. Ifa=2 and b = 3, then the value of

(@ +b*)'is
A) 17
B) 72
L

) 17

1
D) 72
10. If f(x) = x2 - 5x + 7, then f(2) - f(-1) =

A) -34
B) 34
C) 12
D) -12

Page No. 5

7. (-3, -2) g @ Y av&1 & woad firerar
A) (3,-2)
B) (-3, 2)
C) (3,2)
D) (0,-2)

8. ; AR %a:aﬂaaaq&aum%

aA) 39
77

gy 21
77

C) =
11

7
D) =
)9

9. AMa=23Rb=38 (a®+b*)"
HIed §
A) 17
B) 72
1
C) 17
D) ?iz
10. 3R f(x) = x2 —5x + 7@ (2) — f(-1) =
A) -34
B) 34
C) 12
D) -12
1 PECE



11.

12.

13.

14.

If sinB + cosech = 2 then
Sin%0 + cosec?6 =

A) 4
B) 3
C) 2
D) 1

Two vertices of a triangle are (1, 3) and
(4, - 5). If its centroid is (7, 2) then the
third vertex is

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always
true with respect to parallel lines ?

A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60° cos 30° cosec 45° ;
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 3.2

When

C) %
32
2

D) —

Page No. 6

il

12.

13.

14,

3T sind + cosecd = 2 ©, Al sin?0 +
cosec?f =

A) 4

B) 3

c) 2

D) 1

P s v (1, 3) 3l (4,-5) % | 3R
AT g (7, 2) |, & daa i S

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

TUHTE (11 o Gey § 370 & E o
T EEr g ?

A) 37 TAMI 1 el A I BT B
B) I THI F1 99 I BT @

C) 3% TaR! sl VS I Bid! &
D) 7 el i wifed — 1 Bt @

2 sin 60° cos 30° cosec 45°
tan 45° cos 60° sin 45°

o R e fierar @
A) 6

B) 32
5

C) 75'
32

s
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15. The sum of first 20 odd natural 15. ggat 20 fovm wreioes @i &
numbers is R
A) 210 A) 210
B) 250 B) 250
C) 200 C) 200
D) 400 D) 400
16. The sum of the numerator and the 16. GRS ATaTMWH AT 7 & | 399
denominator of a fraction is equal
to 7. Four times the numerator is 8 less 4 T %5 Rl w8 e, @
than 5 times the denominator. Then the =2
fraction is 5
2 A) &
A) —
5 1
1 B) —
B) 5 6
5 c E
C) = ) 5
D) 3 D) 2
) 4 ) 4

17. In the figure, APQR Il APST and 17. i f&@r g8 amfa & 3P

perimeter of APQR : perimeter of APST APQR Il APST 3R APQR & aftfy :
=3 :4. Then the area of APST : area of APST i ufter =3: 4, 9t APST =1
APQR = HIHE : APQR T &% &
P
T P T
Q
Q
A R
S S
A) 16:9 B) 9:16 A) 16:9 B) 9:16
C)3:4 D) 4:3 C)3:4 D) 4:3




18.

19.

20.

213

Every person in a room shake hands
with every other person. The total
number of handshakes is 45. The
number of persons in the room is

A) 5

B) 10
C) 15
D) 20

It x(x—2) = 1, then the value of x? + —

is X
A) O
B) 2
C) 4
D) 6

The value of tan 7° tan 23° tan 39°

tan 60° tan 51° tan 67° tan 83° is
A O B) 1

]
C) V3 D) 75

An arc subtends an angle 60° at the
centre of a circle of radius 6 cm then
length of minor and major arcs are

A 2rand 10w
B) 10rand2 =
C)8rand4n=
D) 4nand6n

Page No. 8

18.

19.

20.

21

T AL 1 T AT gE AfR | 71
fireman @ | w1y frem < g1 T 45 @
A 3@ =W & Al 9 @

A) 5

B) 10
C) 15
D) 20

IMx(x—2) =18 x2+izﬂ
e ? -

A) 0

B) 2

C) 4

D) 6

tan 7° tan 23° tan 39° tan 60° tan 51°
tan 67° tan 83° 1 I3 &

A) 0 B) 1

1
C) /3 D)ﬁ

T 6 cm B 3 99 % 5% | T 919 60°
0T TG HiaT & A 7Y =19 TR FEg I
&l T ®

A) 2r3R10n

B) 10n3R2n

C) 8n34n

D) 47 36T
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22

23.

24.

lfp+g=6andpg=8thenp*+g’=
A) 216
B) 144
C) 72
D) 36

In the figure, if AB || CD, CD || EF and
X:y=3:2thenz=

A€

Vi

Z
Ce< > D
E< /

22, FRp+q=63Mpq=8%, AP+’ =

A) 216
B) 144
C) 72
D) 36

23, 39 AR IR AB || CD, CD || EF 3k

x:y=3:28%8,@z=

A< / > B
r/“x
Z
C« / > D
E< / Y _ > F

A) 36° A) 36°
B) 72° B) 72°
C) 144° C) 144°
D) 108° D) 108°
In two concentric circles of radii 15 cm 24, A waH3a g9 Hi B 15 cm 9 cm
and 9 cm, the length of a biggest chord 2 9R g9 A T o S o R ek
of the larger circle which is a tangent to T I T Y &, e T &
the smaller circle is
A) 24 cm
A) 24 cm
B) 20 cm B) 20 cm
C) 12cm C) 12cm
D) 10cm D) 10cm

Page No. 9 §

1 PECE




25.

26.

21

in the figure, A ABC and A CDE are
right angied triangles. If AC = 24 cm,

CE =7 cm and |ACB =|CED then
AE is
C
pH E
.
A B
A) 30 cm
B) 25¢cm
C) 22cm
D) 15cm

The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

The common factor of (p? + 9p + 14)
and (p?+ 138p + 42) is

A p+2
B)p+6
C)p+3
D)p+7

25.

26.

27

Page No. 10

amfa # A ABC 3t A CDE &/ah
fini® | 3TRAC =24 cm, CE=7cm
3R |[ACB =|CED %, ot AE®

C
pH E

i F

A B
A) 30 cm
B) 25 cm
C) 22cm
D) 15cm
Y gERti F A 161 81 AR A TEmRi
A TH TR A 30% A R @ 7 HEnd B
A) 71 3R 90
B) 70 3R 91
C) 54 3t 107
D) 60 3R 101

(p? + 9p + 14) 3R (p? + 13p + 42) T
THH TUETS B

A) p+2

B)p+6

C)p+3

D)p+7
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28. Pramod and Praveen are the sons of 28. THIG 3 Weior Woael & e & | ouw
Prajwal. The present age of Prajwal is <l FAH MY WHIE Y G 4 T
4 times the age of Pramod and 6 times 3R weftor <6 o & 6 7T R 1 AR I

the age of Praveen. If the sum of their
9 Y 1 1T 51 T & TR &, & 9t
ages is equal to 51 years then the
I g &

present ages of sons are
A) 9 years and 6 years A) 9 §Te 3R 6 AT

B) 8 years and 9 years B) 8 @&t 3R 9 5
C) 9 & 3R 4 91

D) 59 3R 9 9

C) 9 years and 4 years
D) 5 years and 9 years

29. In a circle inscribed in AMNO having 29. AMNO ¥ U= 3 = 3ifera fora T &,
MN = 12 cm, MO = 14 cm and fS@d MN = 12 cm, MO = 14 cm 3R
NO = 18 cm touching sides at P, Q NO = 18 cm &, St y=iradi &1 P, Q, R
and R, then MP + NQ + RO is R T LT 8, 9 MP + NQ + RO
A) 18 cm A) 18 cm
B) 20 cm B) 20 cm
C) 22cm C) 22cm
D) 44 cm D) 44cm

30. The angle between the hands of a clock 30. 4 9 T 9L & Fi] & i 1 0

when the time is 4 O’ clock is BT g

A) 60° | A) 60°
B) 90° B) 90°
C) 150° C) 150°
D) 120° D) 120°

31. The median of the observations 46, 64, 31. IR 92 997 R 41 F 43 A 5ga e

87, 41, 58, 77, 35, 90, 55, 92, 33 after 1 & 9 3T 46, 64, 87, 41, 58, 77,
A) 55 B) 58 A) 55 B) 58
| C) 64 D) 43 C) 64 D) 43




32. If a line 3x — ky = 5 passes through

33.

(3, 2), then the value of k' is

A) 4 B) 3
C) 2 D) 1

The rationalizing factor of abd_%. is

a
A)QE
B)Jf‘_.

b

C) an+1
bn+1

D) o8
bn-'l

. Match the following :

Solids Volume
1, Cone a. %"
2. Cylinder b. nr*h
3. Sphere c. %’“a
4. Hemisphere d. %nr“h

e. %mzf

A)1-d,2-b,3-8,4-¢
B)1-d,2-b,3-8,4-¢C
C)1-e,2-b,3-8,4-cC

D)1-8,2-d,3-a,4-b

32.

33.

34,

Page No. 12

IR (3, 2) AR TE @ 3x—ky =5

IR R:
A) 4 B) 3
C) 2 D) 1
abd%wqﬁ:ﬁtﬁuvmﬂa%
o
A) b
B) (&
¥
C) (&
bn+1
D) o8&
bn-‘l
e ffa |
s el TaE
1, ¥ (F) a %-.vv:r3
2, e (Ryete) b. nr*h
S.W C. %Tﬂ'a
4, Trerd d. -%ur*n
1 2
e. Snrl
A)1-d,2-b,3-3a,4-8
B)1-d,2-b,3-a,4~-c
C)1-e,2-b,3-8,4-cC
D) 1-¢,2-d,3-2a,4-b

1 PECE




35.

36.

37.

38.

If m and n are the roots of the quadratic
equation X*+px+8=0withm-n=2
then the value of ‘p’ is

A) +8
B) £7
C) +6
D) %5

If the quadratic equation
4x2 - (p—2) x + 1 = 0 has equal roots
then the value of ‘p’ are

A) 2or6
B) 2or—-6
C)-2o0r-6
D) -2o0r6

The quadrilateral obtained by joining
the points (1, 1), (1, 5), (7, 9) and
(9,5)is

A) Square

B) Rhombus

C) Rectangle

D) Parallelogram

The linear equation coincide with the
line 2x + 3y =12 is

A) 2x + 3y =15
B) 7x + 14y =13
C) 8x + 12y = 48
D) 8x+ 10y = 18

Page No. 13

35.

36.

37.

38.

3R m 3R n fEEmas gt
X24+pX+8=0F[AedI mM-n=2
tApEIgER

A) +8

B) £7

C) =6

D) £5

PR g g 42 - (p-2) x +1=0
& U GUH B, 0 p’ o e R

A) 2416

B) 2a1-6

C) -291-6

D) -2a16

(1,1), (=1, 5), (7, 9) 37 (9, 5) fergani
Y g T R, 9w R

A) =

B) THugy™

C) Jma

D) THMIR Iy«

T gl Y 2x + 3y = 12 F @Y A
|, T8 R

A) 2x+ 3y =15
B) 7x+ 14y =13
C) 8x+ 12y = 48
D) 8x+ 10y =18
1 PECE



39.

40.

41.

-4
If tan 8 = ——then the value of sin B is

3

)
A 15
4
+ —
B) :
-4

C) ?bui not 5

4 i
D) 5 but not 5

It sin (3A-B)=1and

cos (2A - B) = V3 then the value of
2
sin A and cos B are

A) 3/_3_..0 B) 5,0
2

c) V3,1
2

The simplest form of

oo

1
B) x® ——x'i*

C) >c'5‘+}:—a

D] xﬂ _#

Page No. 14

39.

40.

41,

mtanﬁ:%%,‘cﬁsinﬁﬂtﬁ%
4

A) 15

o 2

C) f%aﬁgqﬁ

D) %%mzsi#f

3P sin (3A - B) = 1 3R
cos (2A-B) = V3 2 7 sin A i
cosBF AR 2

A) ﬂ,o

B) + 0
2 2

c) Y3, 1 D)
2

el D

A) 1
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42,

43.

45.

The mean of 15 observations is 23. If
each observation is multiplied by 2, then
new mean is

A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
If ohe student is chosen at random, then
the probability that he is not a boy is

=1 13
T %) 2
18 i
) 18 D) 13

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm, 5¢cm
B) 5cm,4cm, 8cm
C) 8cm,3cm, 9cm
D) 9cm,4cm, 11 cm

N3N0 0, ot are triangular numbers.
The smallest triangular number that
exactly divisible by 9 is

A) 18
B) 27
C) 36
D) 45

Page No. 15

42.

43.

15 3aeiiaA! &1 39d 23 | 7R TS

ST i 2 | 7T o Sime oY w4 et
B
A) 23
B) 46
C) 25
D) 36
& Ul # 13 st 3 15 5% €
IR I F et w B W g S @
I TSHI 7 BN il GWET §
=1 13
A 15 =
i 1
C) 18 D) :l-é-

44, T S e Py o A 7

45,

A) 2cm,3cm, 5¢cm
B) 5cm, 4 cm, 8 cm
C) 8cm,3cm, 3cm

D) 9cm,4cm, 11 cm

1, 3, 6, 10, .....Ffy e & a=2
1 frepivfta gen <t 9 & gofa: favrsar @
qER

A) 18

B) 27

C) 36

D) 45

1 PECE



 46.

47.

48.

49,

50.

If a, b, ¢ are in AP and

a+b b+c

—_— X, —— =
5 5 Y then the value of

(X+vV)is
A) 2a
C) 2(a +b)

B) 2b
D) 2(b + c)

Four coins are tossed. The chance of
getting none of the face as head is

1 1

AT Bite
9

C) 3 D)%

If (02— 1) is divisible by 8 then 'n’ is
A) a natural number

B) an integer

C) an even integer

D) an odd integer

A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A 12
C) 4:1

B) 1:4
D) 2:1

A 20 m deep well with diameter 7 m
is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The height of the
platform so formed is

A) 25 m

B) 3.5m

C) 5m

D) 7m

Page No. 16

46.

47.

48.

49.

50.

3R a, b, c AP ¥ 8 3t
a+b b+c
"Xy =Y AWM (x+y)
1 474 &
A) 2a B) 2b
C) 2(a + b) D) 2(b +¢)
IR el F 3BT I I foal J off i
T 3 Y G9TE 2
1 1
A) 16 Elig
1 3
C) 5 D) 7
AMBH (N2- 1) W= Ba ‘n'?
A) STehfdeh HE&a
B) quiteh
C) Ui &9 (¥ rier)
D) foryw quife
T 4 cm Y11 % O9 ! Tt 1 cm 41
& ¥4 T el S & |t o wh v ar
TR % S A6 8 31qUTd &
A)1:2 B)1:4
Cra D) 2:1

T 7 m =/ 3R 20 m TRt Fd i gars
# TR 2 3R 3@ gen H it @
22 m x 14 m &1 49 S9191 T/ §, 39 6
S ©

A) 2.5 m

B) 3.5m

C)b5m

D) 7m

1 PECE




51,

52.

83.

54,

56,

56.

CHEMISTRY

Plaster Of Paris (POP) is
A) CaS0O,.2H,0

B) CaSO,.H,0

C) CaS0O,.%2H,0

D) CaSO,.%H,0

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B) Ductility

C) Conductivity
D) Sonorous

is most malleable metal.

A) Au
B) Al
C) Fe
D) Zn

is non-metal but It Is

lustrous.
A) Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold
water,

A) Sodlum
B) Calcium
C) Magnesium
D) Potassium

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether

Page No. 17

51,

52,

53.

54,

56.

L IREREE I

TR AT A (POP) & |
A) CaSO0,.2H,0

B) CaSQO,.H,0

C) CaSO,.%.H,0

D) CaSO,.%H,0

Ut = gaelt Rl § Wi S &
FEIWATE |

A) mereELiaar

B) ==

C) vargshed

D) wyX/¥Te

I ATETaTHATT T R |

A) Au
B) Al
C) Fe
D) Zn

2 g & e s |

A) T
B) TN
C) wihw
D) e

38 T % | i

e |

A) wif¥ay
B) ¥Feam
C) fmfam
D) Tiefiw

LIRS GiETL
A) 399

B) 33is® TR
C) ¥

D) $K

T Bl
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57.

58.

59.

60.

61.

solution of acetic acid in
water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-8%

The melting point of pure ethanoic
acid is

A) 300 K
B) 298 K
C) 310K
D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atomic nature

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum
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57.

58.

59.

60.

61.

mHicERfsde . ===0 U9
# M T s |

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

My s e FITes B |
A) 300 K
B) 298 K
C) 310K
D) 290 K

$EX Ieehigicl 3TN HEIaTR oS 34
¥ foru uitre 71 9 i Iufeufa 3§ vt
waTe IR wed

A) iRy

B) WwIffhehsH

C) deifafm

D) Hfafsd

el o TUT Ik
#1438 |

A) 9] |1

B) 9RHIY FHTH
C) qHTY AThR
D) wHTY] i

Gifea sret-e 1§ freeeie Iantia
AT

A) afFT e

B) YT 1 HigT

C) sehtfem giet

D) foam

& AH
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62.

63.

64.

65.

is used as plaster for
supporting fractured bones in the right
position.

A) CaSO,'10H,0

B) CaSO,-2H,0

C) CaSO,''/,H,0

D) CaSO,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D) Fullerene

Amphoteric oxide is
A) CuO

B) Na,0

C) K,0

D) ALO,

pH of blood is
A) 5.6
B) 6.5
C) 74
D) 4.7
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62.

63.

64.

65.

66.

=i Tt foufa o gfea sfgat
% gAY & T et & w9 3§ 39
frarsmar g |

A) CaSO, 10H,0

B) CaSO,-2H,0

C) CaSO,"/,H,0

D) CaSO,

HTg FH % a9EM T fofRre
(@) FFUH AE R |

A) siiq

B) Wi (1)

C) v

D) S (sr=m)

WHid # T ST e T A9FY UG
HHATE ?

A) SEHE

B) e

C) faferrm =g

D) $eaiit
i ItfaEmEe B

A) CuO
B) Na,O

C) K,0
D) ALO,

WA FpH B
A) 5.6
B) 6.5
C) 74
D) 4.7
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67.

68.

Our stomach produces
acid which heips in the digestion.

A) H,SO,
B) HNO,
C) H,PO,
D) HCl

Stinging hair of nettle leaves inject
causing burning pain.

. A) Ethanoic acid

69.

70.

713

B) Methanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C) Sodium hydroxide

D) Sodium chloride

is used in the manufacture

of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Silver articles become black after
some time when exposed 1o air. This
is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite
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67.

68.

69.

70.

71.

BT U e 1 I H@l
TR S U mEe wa § |

A) H,SO,
B) HNO,
C) H,PO,
D) HCI

forsg T ¥ < T TS 1 & PA W
e % T8 1 IO ST 8

A) ToTE TS

B) fadises ufre

C) Wi Tos

D) sqRATE Tre

AT AT |
A) Hifeay FEAe

B) wifeaw ¥ HEHe
C) aifsaw tgiads

D) wifean Teiite

arreg & fmfo & fore E
SRR |

A) a1 e

B) afd drer

C) uifeam i
D) wifsam ae%e

T T 3 o7 F $S 999 918 9161 5
qaTe 1 81 ST & | SEeH SR
IR |

A) faeataethe

B) forear arfede

C) faer aewige

D) freat acthe
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72.

73.

74.

75.

76.

Bronze is an alloy of
A) Cu&2Zn
B) Cu& Sn
C) Cu&Pb
D) Cu&Ti
is an alloy used for

welding electrical wires.
A) Bronze

B) Brass

C) Solder

D) Steel

is a major component of

CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.

A) Pt
B) Ni
C) Pd
D) Ag

pH of milk of magnesia is
A) 11

B) 10

C) 11.5

D) 10.5
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72, ®E

wTE T uge |

A) Cu & Zn
B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

73, forsedt & i i sie & g

74.

75.

76.

Ty wrg =1 I TR ST @ |
A) FR’E
B) diaa
C) firemy
D) 3w

CNG 1 &7 9 2
A) g
B) 3
C) W

D) =37

el deil & Sorei Rt o forg
I IANTE & T4 H I R ST € |

A) Pt
B) Ni
C) Pd
D) Ag

AR R gE R pH gl
A) 11

B) 10

C) 115

D) 10.5
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[

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCI
C) HNO,

D) HSO,

78.

79.

80.

81.

A) Oxalic

B) Citric

C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is called

A) Brine

B) Milk of magnesia
C) Washing soda
D) Baking soda

Bleaching powder is represented as
A) CaCIO

B) CaOCI

C) CaOCl,

D) Ca,OCl,

When lead nitrate is heated emission
of occurs.

A) N,O,

B) NO,

C) NO

D) N,
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acid is present in Tomato.

17.

78.

79.

80.

81.

5 1 FTarael FEA -
e R it AR A T R |

A) H,SO,

B) HCI

C) HNO,

D) HSO,

AT |

A) IEriis
B) faf¢e

C) it
D) AurigH

e dE g R |

HIfETT TS & Seiig =i Y
e 2l

A) @

B) #-firan w1 gy

C) Y& @Sl

D) sféTgreT

et g
GRS

A) CaClO
B) CaOCI
C) CaOC|,
D) Ca,0Cl,

el TG 1SS Sl TTHIAT ST & el
1 IS YT AT R |

A) N,0,

B) NO,

C) NO

D) N,

EARNGIE 1D G|
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82.

83.

85.

Na,SO, + BaCl, — BaSO, +
2NaCl is an exampie for

reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

Chips manufacturers usually flush
bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen

D) Carbon dioxide

On passing excess of carbon dioxide

through lime water is
obtained.

A) CaCQ,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

solution does not
conduct electricity.

A) Sodium hydroxide
B) Calcium hydroxide
C) Glucose

D) Hydrochloric acid

82. Na,SO, + BaCl, —— BaSO, +
2NaCl 78 wfcifsrar <

83.

84.

85.

fore e SErEw R |
A) freumm

B) Jeu faeur=

C) e g

D) =

g e st W e it SRR

B | et o fomg

A F I a wmFaE |
A) IrffFasH

B) wgisH

C) wgioH

D) FEeEsee

=3 % g & wierm @ srfafe
FIATSEHTFIS TgaM W

g & 919

TS BT R |

A) CaCo,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

= O Tt o1 g

T wET? |

A) Hifean eeiads
B) e 20
C) i

D) teraeiiiG e
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86. Manganese react with very dilute

HNO, to evolve gas.

A) H,
B) N,
¢)10,
D) NO,

87. The order of reactivity is
A) Al>Mg>Fe>2n
B) Mg > Al >2Zn > Fe
C) AlI>Mg>Zn>Fe
D) Mg > Al> Fe > Zn

88. Cinnabar is
A) HgO
B) CuO
C) HgS
D) Cu,S

89. Sulphide ores are converted In to
oxides by
A) Combination
B) Reduction
C) Calclnation
D) Roasting

80. Fe,O,, + 2Al,—2Fs, + Al,O,, + Heat.

This reaction Is called
A) Calcination

B) Thermit reaction
C) Thermal reaction
D) Displacement

c

86.

87.

88.

8s.

g Jaet HNO, & a1 Hiriet & e @
o feRm e e |

A) H,

B) N,

C) O,

D) NO,

yafshar &1 Y 21

A) Al > Mg > Fe > Zn
B) Mg>Al>2n>Fe

C) Al>Mg>2n>Fe
D) Mg > Al > Fe > Zn

R 81
A) HgO
B) CuO
C) HgS
D) Cu,S

TEHE TR F T
sfeamyga # afafda e s @ |
A) ¥

B) %

C) wEmT

D) W

Fe,0,,+ 2Al, —2Fe, + ALLO,  + Heat.

wmyfafFn®_ FEa |
A) THFAT

B) wmige wffsma

C) uvet wfiafsrar

D) e
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91.

92.

93.

94,

95.

Modern periodic table has

periods.
A) 18
B) 8
C)7
D) 17

Metalloids is
A) Silicon

B) Carbon

C) Magnesium
D) Iron

M shell of chlorine contains
electrons.

A) 7
B) 6
C) 4
D) 5

Metal oxide + Acid — X + water, X is
A) Metal

B) Acid

C) Base

D) Salt

Hydronium ion is
A) H*

B) H,O*

C) OH,®

©)
D) OH
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91.

92,

93.

94,

95.

IFYFF A AR _ safet
g

A) 18

B) 8

C) 7

D) 17

HTAISEH (Mg )
A) Tafeni

B) e

C) ffay

D) &=

FAINA & T 9t 5
TAE |

A) 7

B) 6

C) 4

D) 5

gTq ATadse + I — X + 9T,
X 2l

A) *1g
B) 31
C) 5
D) 9%

LEUREEIDE ] {
A) H* ;
B) H,0*
C) OH,2

0
D) OH
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96.

97.

98.

99.

100.

gas is liberated when
zinc is treated with H,SO,.

A) O,
B) SO,
C) H,
D) SO,

Quick lime is
A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CO, in
air to form a thin layer of

A) Ca(HCO,),
B) CaO

C) Ca(OH),
D) CaCO,

During respiration
combines with oxygen in the cells and
produces CO, and water.

A) Sucrose
B) Fructose
C) Glucose
D) Galactose

Colour of ferrous sulphate crystals
A) Orange

B) Green

C) Blue

D) Yellow
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96.

97.

98.

99.

g e it @ 51& H,SO,
& |1 5 =1 Iqem frr s @

A) O,

B) SO,

C) H,

D) SO,

e =T gl
A) CaO

B) CaCl,

C) Ca(OH),

D) Ca(HCO,),

3ol gonl <1 o R g1 # CO, & w1y
&I yarelt T T % e
Sifcifsrar S @ |

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCO,

&9 & A FIEe o
Jifaee & ary fieeR CO, 37K urt &1
IEH FAT 8§ |

A) gHiE
B) g

C) =g
D) T

100. TE9 79 FHEH H T 4

A) At
B) &

C) e
D) e
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101.

102.

103.

104.

PHYSICS

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is

A) Thermal effect
B) Balwin effect
C) Raman effect

D) Tyndall effect

The blue colour of the sky and the

redding of sun at sunrise and sunset
is caused due to

A) Scattering of light

B) Reflection

C) Thermal effect

D) Atmospheric diffraction

One ampere current is

1coulomb
1second

B) 1 coulomb x 1 second

C) 2 coulomb
1second?®

D) 1 coulomb x 1 second?
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101.

102.

103.

104.

wifeen fom

an i feafeurea =1 s @
A) aGHSEHIT AT
B) argaee faada
C) argasdd NiehviA
D) SrgHeel Uil % S ST i faehivia

hieiTsed Ul g0 FehTer 1 forehiolq &
A) = T

B) S@dia 99T

C) THA T

D)ESREIC

TSI T e U7 3R gETed iR gy
% T9 U & T T T HRT B 8
A) ehTe T Tl
B) TrEc
C) ude avTe
D) angHesy foeaa
T TR o awr R
A) 1 o
19%8
B) 1%era x 1 ¥he
C) 2;%13
18hg?
D) 1 g x 1 §%s>
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| 105. Potential difference between two 105. 2 figall % fiwr & et & s @
points is equal to

f A) form T @R
| A) Work done TN
. e B) R x f&an man =
| B) Charge x Work done
| TR
- c) _Charge C) e
Work done
2
Charge)® D)y _ (M)
D) < :
) Work done Teran T

106. Conductors of electric heating devices 106. ¥T AR IR forga et 9@ fagga mff %

\ such as bread toasters and electric YT F TS & UGl & aed f
l irons are made by alloy rather than pure T & ST 1A & iR
metals because A) fy urgatt wfaiusal 5 Bidl &
A) Alloys have low resistivity B) i wrgail # wickivea it aidi 8
B) Alloys have high resistivity C) e wherrererar T Ff & Tt &
C) ltis not dependent on resistivity D) 3Iudea ¥ ® HIS e

D) None of the above

107. A current through a horizontal power | 107. we At e off TR S o A G

line flows in East to West direction. The ¥ ufem R # wanfea @t @ 1 forege
direction of magnetic field at a point | ife AR HiY = i fig W gaehla &=
directly below the power line is Hi R Bt &

A) North to South A) IH ¥ Tfaqor

B) South to North B) aféor & IW

C) West to East C) vRm A

D) East to West

D) qd & ufeem




108.

109.

110.

The magnetic field due to current
carrying circular coil having n turns is

A) n® times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turn

1
C) n times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
inside a solenoid can be used to magnetise
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed Is called as

A) Electromagnet

B) Diamagnet

C) Paramagnet

D) Permanent magnet

The magnetic field inside a long straight
solenoid carrying current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) is the same at all points
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108. n AEETH TEEA U 98 FAAT

109.

110.

TR FSeH 3 HROT e & 2ar
A) n? & ®q # 5} A # G a0
IaTfeq

B) n ¥R & ¥9 # &< 4T ¥ el SR g0
ERIEE

C) %m%mﬁa@tmﬁmaﬁm
SeaTied

D) el Rt gRT IeqTed & W

ORATITERT & 37ET IeTed Hefefq garehid
& T ITAT FEH F 7R T T YA
qrft S8 TH T F gHE I GaAtha FA
F fre R = wae & | < e wan 8,
3 g e 8

A) ferge g

B) wferge®

C) orgews

D) Turfh go

figa yr 987 RIS & @) di

aftferenT & iie] e &

A) AE@ R

B) -9 ¥x aia &I 31 wga &, ved
o &

C) ¥ & &9 2ia A @A }, g I &

D) @it figalt o v @ &
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111.

112,

113.

114.

The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor
D) Generator

The direction of the electric current is
taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of electrons

A piece of wire of resistance R is cutinto
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R’,

the ratio %' is

A Jos
8) %

C)5
D) 25

Which of the following is not an example
of conventional energy source ?

A) Wood

B) Gobar gas

C) Nuclear energy
D) Coal
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111, o ufay (Tifé afffe) & witae <6t gea
F Ry 3w foman SHaTeT FRA
IR &

A) SfeRius

B) ®§
C) AX

D) TR
foregar wrr Y R ot <t &

A) TR i yars @ fem & gue
B) saerl = yare §t fewn & ferada
C) soael & yaTe =t fam & Teea

112.

D) 3oz & ware % R fargga & fg i

ferm 7 @

113. R R ¥ IR F1 gHel U GEE WEI
¥ et ST & | g9 AWt R gEETa
F Sirer o § | AR W TS W AAged

wfrdw R &, @ B, & g @
A) Yo
B) }é

C)5
D) 25

frafafaa § & e TRufes S @
E A

A) TRl

B) TR 1|
C) T St
D) T

114.
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115.

116.

17,

118.

119.

Which among the following is a
non-conventional source of energy ?

A) Fossil fuel

B) Solar energy

C) Hydro power plant
D) Wind energy

Retina of the eye is a

A) Light sensitive screen
B) Lens

C) Object

D) Aperture

The human eye can focus objects at
different distances by adjusting the

focal length of the eye lens. This is
called

A) Presbyopia
B) Accommodation
C) Near sightedness

D) Far sightedness

The change in focal length of an-eye
lens is caused by the action of the

A) Pupil

B) Retina

C) Cilliary muscles
D) lIris

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopia

C) Hypermetropia

D) Astigmatism

Page No. 31

115.

116.

117.

118.

119.

Frafafes 4 @ oi9ar o= w1 & &
YRE G & 7

A) SitaTed 3

B) ®R &

C) Srererga w4
D) arg S

AiE o erftrae (Fedee)
A) TERTIT T Hag YT
B) &=

C) =9
D) &%

atE F a0 F B Ta B ardifea
e faf= gt it st W wme aifa
HRT R TN | W Fea &

A) 0 R g 3w

B) gfawr

C) ez 3R 3w

D) q g AW

e F -0 Ft Bie TTs B IRadH R
ERIE & ot G

A) et

B) atféme

C) fuferadt wieufirat

D) w&

I FeA o |y AT & gi it uiw w0
B ot ® | g9 feufe =t =t e @
A) Fie gfR Ay
B) s w g qw
C) ¥ gfee 2w
D) g awg
1 PECE




120.

121.

122,

123.

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo
B) Red
C) Orange

D) Yellow

Equivalent resistance (R ) of the parallel
combination when two resistors R, and
R, are connected in parallel is equal to

R, +R,
RR

A) R =

RR;
R, -R,

R = R - R,
* R,+R;

H1H2
R, +R;

B) R,=

C)

D) R, =

According to Joule's law of heating, the
heat generated due to electric current
is given by

A) H = PRt
C) H=IR%

B) H=IRt
D) H=IR?

1 watt of power is equal to

A) iIW=1Vx1A  B) 1W=-:%
_ W Ve
C) 1W.H D) W= ¢

120.

1215

122.

123.

T e YT 1 TR B 7, a9 e
@ S T T TS GRS 7

A) Hi=

B) @&

C) ot

D) dien

v 3 afedy R, 3t R, %t FHiat Siret
ST &, A G HAISE 1 @aged
widy (R) 8

R,+R

R.R
o R R-hs

_R,-R,

C)R
) R, R, + R,

_ ARy

DHEL= R, +R,

e % T ¥ frgi o TgaR fnga v %
= il S FEWASAE |

A) H = I°Rt B) H = IRt
C) H=IR% D) H=1IR?

1arzﬁga§r%%m%

A) iWW=1Vx1A  B) iwadd

1\
VE

1A

o) w=N

D) W=
1A
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124. The commercial unit of electrical 124, forega St o suraETes 3 @
energy is A Fosiar vt i
A) Kilowatt hour
hes i
Kilowatt B)
) hour S
C) Kilowatt/hour? C) feretrare /awer:
D) Kilowatt (hour)2 D) feaitame (srwer)?
125. The resistance of a wire is 125, @R <t wfeRieErat '
A) directly proportional to its area of A) 0% TIIRY e & FI%C | FAAA
cross section Bt B
B) inversely proportional to its area of B) I STIIEU I 3 BHE H SGhHII!
cross section Bt ‘
C) independent of its area of cross C) ;‘ﬁ; IS HE % & A T Bl
section
D) proportional to square of its area of D) 38 3T Fe % &% & a1 |
cross section SgTfereh Biefl 8
126. The magnetic field of a solencid carrying | 126. foa & SHa™ GicA1Ee 1 Foehid &7
a current is similar to that of a | FAUH AT R |
A) Bar magnet A) E Fi I8
B) Resistor B) gftiush
C) Electric motor C) forrelt =1 Wi
D) Iron core D) dR =1 qe
127. The AC supply to the houses is of 127. =R § AC i 3gfd 220 V, 50 Hz i & |
220 V, 50 Hz. One of the wires in this TR % ardl 1 @ U el SO % |19
supply is with red insulation called as 2 PR w2
A) Live wire A) ﬁg:qqa'r{
B) Neutral wire  B) @e AR
C) Earth wire C) 3¢ ark
D) None of the above D) 394 & IS e




128.

129.

130.

131.

The phenomenon of Electro-magnetic
induction is

A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coil

C) Inducing electric current in a coil
due to relative motion between a
magnet and the coil

D) The process of rotating a coil of an
electric motor

At the time of short circuit, the current
in the circuit

A) Reduces substantially

B) Does not change

C) Increases heavily

D) Vary continuously

The device used for producing electric
current is called as

A) Generator

B) Galvanometer
C) Ammeter

D) Motor

The ratio of sine of angle of incidence
to the sine of angle of refraction is a
constant for given pair of media. This
law is known as

A) Maulas law
B) Snell's law

C) Stefan's law
D) Pascal's law
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128.

129.

130.

131.

forega-gaehi Sor < wre @

A) & 92 T yaria @ Y whma

B) & Fea @ B faga oA ¥ @
YohiT &7 I F0 Y whEa
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wRU Feelt § SR frga g Iewm wE

D) forege #iex & Few &l yHM i widkan

o o (217 afbe) % @, afe &
Tersreft = formgm

A) RT FH T T 8

B) & wgerar &

C) it Jgar &

D) SIAR sgerat &

forga o & Swred % o sy fre
STHETC! ST S el STTaT 2

A) SR

B) et

C) T

D) HiX
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T | AT IV F TT T I FRR
8 | 3 fagia < s &
A) Hema w1 Fram /frgia
B) V& =1 fgia /frm
C) e =1 fram /Rrg
D) ureehet =1 forgia /fam
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132. Which among the following has a 132. F=foiiad | @ FFas Auadars gad
larger refractive index ? TS e 7
A) lce A) =% /fen
B) Carbon B) e
C) Diamond C) &
D) Ruby D) i
133. The effective diameter of the circular 133. T TCIHR -4 ohl FUrehR S90ET o 9Tt
outline of a spherical lens is called =T ! el 97T 2
A) Aperture A) Tz
B) Optic center B) gfe &%
C) Pole C) g&
D) Principal focus D) wu™ *zfeg
134. The focal length of a plane mirror is 134, GOAS Y01 ! Blehel =TS Bidl &
A) Zero B) One A) Y[ B) @&
C) Infinity D) Two C) Faar D) |
135. S! unit of power of a lens is 135, o= =i ife 6 ©E.3TE. 37 &
A) Metre B) Dioptre A) Hiex B) feariex
C) Centimeter D) Steradian C) dferdfiex D) wufeam
136. Sl unit of potential difference is 136. Tavara i wa. 37, 3618 8
A) Ampere B) Voit A) TR B) diee
C) Coulomb D) Joule C) Fa= D) sh&
137. 1 ohm is equal to 137. 1 319 ¥ TqER 2
A) 1ampere A) 1 TR
1volt 19%e
B) 1 volt x 1 ampere B) 1 d¥ee x 1 TfiE
C) _1volt C) 139ee
1ampere TR
D) 1 volt x (1 ampere)? D) 1 diee x (1 THiR)?




138.

139.

140.

141,

If the length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half
B) doubles

C) reduces by J4
D) quadruples

S| unit of resistivity is
A) Qm

C)

B) Q'm™
D) Qm™

When the resistors are connected in
series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual

resistance

According to Fleming's left hand rule,
the fore finger is pointed towards the
direction of

A) Electric curreht

B) Magnetic field

C) Force exerted

D) Motion of the conductor

138.

139.

140,

141.
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A) e Siferrerss <At ferge amr aftae & e
URT % THH Bt &

B) Wi White & ToAaTe! atees TRay
% HeT dlees & THH Bl &

C) v% hiltas & TerAaTett fagaam
=1 4 9fee & Fo fage a0 & aae
il 8

D) T B2 dufars gy @ wwreht wfidiy
F BT 8

TATHT % AT 71 % Frrm o ST, et
i fewm gwidi 2 |

A) o e
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142. The device that detects the presence

143.

144,

145,

of a current in a circuit is
A) Voltmeter

B) Galvanometer

C) Resistor

D) Diode

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelectric effect

A rectangular coil of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions

B) 1 revolution

C) half revolution
D) %‘h revolution

Magnetic field lines are shown closer
together where the magnetic field is

~ A) Stronger

B) Weak
C) Constant
D) None of the above
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143.

144,

145.

T8 3 s foRdt afme F ferga =
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A) eeriet

B) MeEiHizt
C) wfedies
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146.

147.

148.

149.

150.

Image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus

B) Principal axis

C) Focal length

D) Parallel ray

A ray parallel to the principal axis after
reflection from a concave mirror will
pass through

A) Principal focus

B) Principal axis

C) Radius of curvature

D) Center of curvature

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Point sized

B) Enlarged

C) Large

D) Same size

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave
B) Convex
C) Plane

D) Plano-convex
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147.

148.

149,

150.

T guad gdur g Pffa of e A
Bt

A) Mt 3R @t

B) ariferss 2R eren

C) 1t i 3T

D) arafas 3R @s

T TR U7 Sht Ishal ohy 3R Ya &
BT TSI hIeqieh L@ &

A) wuH Fx-fag

B) wna gt

C) ®ishdl SaTg

D) |HMTaR femtor

ITad SUU | WA & 916 Tq@ & F
AR O w8 S eIt 2 |
A) wuH H3-fag

B) wum yit

C) ashar B

D) ashdl &1 F5

S U I I STl ® W@ o g,
Jae g4 g Fiffa ofa @1 smewr g @
A) Toig &1 TR

B) @@l g

C) =

D) @9  AY

% Fafercass gro AR & 3T &t =< sfeat
il @A % foTT 3T fohe STRaTet g9 =
TR 8

A) T

B) 3Haret

C) avad

D) guaaiiad
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